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50 a—8 33 40 b—8 41
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31 b—7 36
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42 35 27 31 50 29 24 18
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F—L% B/ B/ F—L%
a—1 FHEBRY—LENX 37 vs 38 WEEHB-C
a—2 TJI—I—R 40 vs 42 RiEH&AT
a—3 HRIEWHEHBEAES 47 VS 42 FHEBR)—LEN
a—4 NELUBIT 36 vs 27  JJ)L—I—X
a—5 HAIETHEMBAS 39 VS 35 WMEEHB-C
a—6 J\EUBFI 43 vs 31 AiEH&PT
a—7 Vs
a—8 HRAIEWEPFAI 55 vs 33 INEILET
a—9 HAIEMEBAE 45 vs 31 I’ Sic

F—L% B/ B/ F—L%
b—1 JTARIEZ#EMR 49 VS 37 IERI/INHER
b—2 MEE®RIE 51 vs 50 JPF#H
b—3 I’ Sic 52 Vs 18 eI/
b—4 JP3 53 vs 55 INELLERK
b—5 I[XLv{HSL 26 Vs 24 JTARIEZER
b—6 MEET®RIE 42 vs 29 I\EILEH
b—7 [\ BHA5L 31 Vs 36 I’ Sic
b—8 MEHETRIS 40 Vs 41 I’ Sic
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